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REAL CHAMPS -



A man travels a certain distance at 12km/h and returns to the starting point at 9 km/h. the total 
time taken by him for the entire journey is 𝟐 1/3 hours. The total distance (in km) covered by 
him is:
एक व्यक्ति एक निनित दूरी 12 नकमी/घंटा की गनत से तय करता है और 9 नकमी/घंटा की गनत से
प्रारंनिक न ंदु पर वापसआ जाता है। पूरी यात्रा के निए उसके द्वारा निया गया कुि समय 1/3 घंटे
है। उसके द्वारा तय की गई कुि दूरी (नकमी में) है?

1)25
2)12
3)24
4)28



If 𝟐 𝐜𝐨𝐬𝟐 𝛉 − 𝟓 𝐜𝐨𝐬𝛉 + 𝟐 = 𝟎, 𝟎° < 𝛉 < 𝟗𝟎°, then the value of (𝐜𝐨𝐬𝐞𝐜𝛉 + 𝐜𝐨𝐭𝛉) is:

1)1/√3
2)√3
3)1/3
4)2√3



If 𝟖𝐱𝟐 + 𝐲𝟐 − 𝟏𝟐𝐱 − 𝟒𝐱𝐲 + 𝟗 = 𝟎, then the value of (14x-5y) is:

1) 9
2) 6
3) 5
4) 3



In ∆ 𝑨𝑩𝑪, D is a point on side AB such that BD =2 cm and DA = 3 cm. E is a point on BC such
that DE || AC, and AC=4 cm. Then (area of ∆BDE) : (Area of trapezium ACED) is:
∆ 𝑨𝑩𝑪में, D, AB पर एक न ंदु इस प्रकार है नक BD =2 सेमी और DA = 3 सेमी। E, BC पर एक ऐसा
न ंदु है नक DE || एसी, और एसी = 4 सेमी। त (∆BDE का के्षत्रफि) : (समिम्ब ACED का
के्षत्रफि) है:

1)4:21
2) 2:5
3) 1:5
4)4:25



If a² + 4b² + 49c² + 18 = 2(2b+28c-a) , then the value of (3a + 2b +7c) is :

1) 0
2) 2
3) 1
4) 3



Two trains of same length are running on parallel tracks in the same direction at 54 km/h and 42
km/h respectively. The faster train passes the other in 63 seconds . What it the length (in 
meters) of each train ? 
समाि िं ाई की दो रेिगाऩियााँ समािांतर पटररयो ं पर एक ही नदशा में क्रमशः 54 नकमी/घंटा
और 42 नकमी/घंटा की गनत से चि रही हैं। तेज गनत वािी टर ेि 63 सेकंड में दूसरे को पार करती
है। प्रते्यक टर ेि की िं ाई (मीटर में) क्या है?

1) 90
2) 81
3) 105
4) 210



The ratio of the incomes of A and B is 2 : 3 and that of their expenditures is 1 : 2 . If 90% of B’s
expenditure is equal to the income of A, then what is the ratio of the savings of A and B?
A और B कीआयका अिुपात 2:3 है और उिकेव्ययका 1:2 है। यनद B केव्ययका 90% A कीआय
के  रा र है, तो A और B की  चतका अिुपातक्या है?

1) 1 : 1
2) 9 : 8
3) 8 : 7
4) 3 : 2



Anu spends 90% of her income. If her expenditure increases by 25% and savings increase by 
30%, then by what percent does her salary increase?
अिु अपिी आय का 90% खचच करती है। यनद उसके खचच में 25% की वृक्ति होती है और  चत
में 30% की वृक्ति होती है, तो उसके वेति में नकतिे प्रनतशत की वृक्ति होती है?

1) 25.5%
2) 24%
3) 22.5%
4) 20%



In a triangle ABC, D and E are two points in AB and AC respectively. O is the midpoint of DE. If 
AD : DB = 1 : 3 and CE : EA = 1 : 3. Find the ratio between the area of triangle OBC and ABC ?
एक नत्रिुज ABC में, D और E क्रमशः AB और AC में दो न ंदु हैं। O, DE का मध्यन ंदु है। यनद AD: 
DB = 1: 3 और CE: EA = 1: 3। नत्रिुज OBC और ABC के के्षत्रफि के  ीच का अिुपात ज्ञात
कीनजए?

1)1:2
2)1:3
3)1:4
4)NOT



If 3cos2A + 6sin2A = 3,  then the value of A is

1)30°
2) 0°
3) 90°
4) 45


